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[Participant ID

Participant Name

Test Center Ram Tahal Choudhary Institute of Technology
Name RTCIT

Test Date 09/01/2021

Test Time 3:00 PM - 4:30 PM

Subject NTPC

* Note

Correct Answer will carry 1 mark per Question.
Incorrect Answer will carry 1/3 Negative mark.

1. Options shown in green color with a tick icon are correct.
2. Chosen option on the right of the question indicates the option selected by the candidate.

¢! qeramar & S FHeT Fw gaT um?
ais of 12019

< 2 2018

< 3 2017

X 4 2016

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

9489111604
9489116416
9489116415
9489116414
9489116413
Answered

3




Q.2 2 3 FEw F 3 F O 9 ¥ A 3 F wE A 3o G A, s A g F 9 S o ar

73 HEA, 7T TEA & A A F IEL @ A g1 e A S

ae X1 45
< 2 54
K3 72
v 27
Question ID : 9489111653
Option 11D : 9489116611
Option 21D : 9489116612
Option 31D : 9489116609
Option 4 1D : 9489116610
Status : Answered
Chosen Option : 4
Q.3
ST &7 9UH Afger Tseafa Hia o
Ans JSTHAT
X TS AT HX
X 2 g A@g=a
X 3. AT FIATA
v o gfgeT aifee
Question ID : 9489111606
Option 11D : 9489116422
Option 2 1D : 9489116421
Option 31D : 9489116423
Option 4 ID : 9489116424
Status : Answered
Chosen Option : 4
Q.4  The base of a right-angled triangle is 12 cm and the difference between the other two sides is 6 cm. What will be the
perimeter of the triangle?
Ans X118 cm
< 2 30 cm
< 3 54cm
W 2 36 cm
Question ID : 9489111666
Option 11D : 9489116661
Option 2 ID : 9489116662
Option 31D : 9489116664
Option 4 1D : 9489116663
Status : Answered
Chosen Option : 4




Q.5

Ans

If sinf — cos @ = 0, (angle in first quadrant) then the value of

sin®@ + 3cos?0 is:

v'i42
X 2 zﬁ

X 3

4
V2
K42

Question ID
Option 1 ID
Option 2 ID
Option 31D
Option 4 ID

Status

19489111670
1 9489116677
1 9489116678
1 9489116679
1 9489116680
. Answered

Chosen Option :

1

Q.6 =z =Fr ¥ == FEAT AT FieT, SEE 55, 72 3K 123 @ Feled e WoEAT 3, 7 K 6 o

qred &l
Ans X166
X2 117
<3 26
v 13
Question ID : 9489111652
Option 11D : 9489116606
Option 2 1D : 9489116608
Option 31D : 9489116605
Option 4 1D : 9489116607
Status : Answered
Chosen Option : 4
Q.7 zfy F y=wfAr AR =AU # 5% IS & W 2 I§ ¢ 226,400 g ST ¥, & aawly "7
FrraT)
Ans X 1. 229,040
v 2 324,000
X 3 22,400
/< 4 %2640
Question ID : 9489111655
Option 11D : 9489116619
Option 21D : 9489116618
Option 31D : 9489116620
Option 4 1D : 9489116617
Status : Answered

Chosen Option : 2




Q.8

T FT I TUET 37 £

e X Br TS seEe

X 2 T3F wiae T 35T
v 3. TAYST TET 3T
X 4. ToTST TS FEIA

Chosen Option :

Question ID : 9489111614
Option 1 ID : 9489116456
Option 2 ID : 9489116453
Option 3 ID : 9489116454
Option 4 ID : 9489116455
Status : Answered
Chosen Option: 2
Q.9 :
T FL:
1800+ 10X {45+ (17— 2)}x 2+ {—2(1+2)}
Ans - X 1114
<2180
V'3 1074
x40
Question ID : 9489111649
Option 11D : 9489116596
Option 2 ID : 9489116593
Option 3 ID : 9489116595
Option 4 ID : 9489116594
Status : Answered
Chosen Option: 3
Q.10 _: :
HARET A A aTell ARSI HeT $r Ggelr Afgenm Hier of1?
Ans  of 1. FoTAT TG
X 2 geirar afermrw
/< 3. QAT uTSar
X 4 AT THTS
Question ID : 9489111630
Option 11D : 9489116517
Option 2 ID : 9489116518
Option 31D : 9489116519
Option 4 ID : 9489116520
Status : Answered

1




Q.11 PowmwgdRR STami ot s Qe amiwgP domg sk P RE ST §,
HieT g o= 22

Ans 1§
v 2R
X3 p
<4 Q

Question ID : 9489112001
Option 11D : 9489118001
Option 2 ID : 9489118002
Option 3 1D : 9489118004
Option 4 1D : 9489118003
Status : Answered
Chosen Option : 2

12 T @r T OPEC &1 Teww 8T &7
MK e

X 2 TS

V'3 Fe

X 4 eI

Question ID : 9489111635
Option 11D : 9489116539
Option 2 ID : 9489116538
Option 3 ID : 9489116540
Option 4 ID : 9489116537
Status : Not Answered
Chosen Option : --

Q.13 w 1.5 kg F & #r 10 F5H & T -GS e 7T &1 TohS d5F F hadell Fep HoET?
Ans 1 1500 g

<215g¢g
'3 150 g
<410 g

Question ID : 9489111646
Option 11D : 9489116582
Option 21D : 9489116581
Option 31D : 9489116584
Option 4 1D : 9489116583
Status : Answered
Chosen Option: 3




Y wmE & 3w iy Foe: R TS ¥ o g o

Ans

< 1. HAgRIeg
< 2 anfEer
v 5. TR

<4 FeaT 9e

Question ID : 9489111632
Option 11D : 9489116527
Option 2 ID : 9489116526
Option 31D : 9489116528
Option 4 1D : 9489116525
Status : Answered
Chosen Option : 4

Q15 &y onflrm s g i R N ¥ P FaRe @ Al S A4 FiF W@ 32

Ans

X1 9T
X 2 =T
X 3. FHar
v ¢ gEeeTET

Question ID : 9489111626
Option 11D : 9489116501
Option 2 ID : 9489116504
Option 31D : 9489116503
Option 4 ID : 9489116502
Status : Not Answered
Chosen Option : --

Q16 24 % 34 x 52 x 72 Foyr 22 x 3¢ X 5° F AgedH TATTESF (HCF) 71 v

Ans

v 1 22x3%x53

N2 22 % 3 Koy

< 3. 385 JAM o0 BB o 72
X 4 D E B2 Ko R

Question ID : 9489111647
Option 11D : 9489116587
Option 2 1D : 9489116588
Option 31D : 9489116586
Option 4 ID : 9489116585
Status : Answered
Chosen Option : 1




Q17 1f the mode of the following data is 12, then find the value of k.

11,15,8,9.k 11,12, 12, 15, 14

Ans « 1. 12
<211
<315
<413
Question ID : 9489111668
Option 11D : 9489116669
Option 2 ID : 9489116670
Option 31D : 9489116671
Option 4 ID : 9489116672
Status : Answered
Chosen Option : 1
Q.18 ¢ %
frfofea & & 7 7 e affes & Tug 78 82
Ans 2 :
& 1. Araredr 3FAT AfeT (Meenakshi Amman temple)
v 2 g%er e (Bekal Fort)
X 3 Jooal HigA (Valluvar Kottam)
X a THATHIIA o7 (Padmanabhapuram Palace)
Question ID : 9489111609
Option 11D : 9489116436
Option 2 ID : 9489116433
Option 3 ID : 9489116435
Option 4 ID : 9489116434
Status : Answered
Chosen Option : 2
Q.19 o aRd i g A # whgT F gEas # O Age Yo gled & TATT aar e
e X FAREr @
XK 2 g T
v 5 SHEAEST 2TeT
X 4 HIET geT
Question ID : 9489111610
Option 1 ID : 9489116437
Option 2 ID : 9489116438
Option 3 ID : 9489116440
Option 4 ID : 9489116439
Status : Not Answered
Chosen Option : --




Q.20 F=fafda & ¥ o =t sREeT & A ¥ e ams ¥ R e sErEE, FwEE
ST TISEHIUT i FeRrerT dr oAr?

Ans 1. SISl o9 T
X 2 grer IR e
X s e =g amer
W ¢ TS FHOT el

Question ID : 9489111619
Option 11D : 9489116475
Option 2 ID : 9489116474
Option 31D : 9489116476
Option 4 ID : 9489116473
Status : Not Answered
Chosen Option : --

Q.21 #=r Ry ov g W 9N & R 9F 540 & SeeEd # § #i9 @ ORumaRenY 5§ T §
fafea &

N
TS W WTHE Fed! TG & (o0 g e ¥ AT
STROITE:

1. dwreF iR Hug gar$ F & 3 gw d

2. e ¥ HEE I F FE 3T WUA A g

e X1 e 2 A B
X 21 3k 2 et @fza &
Xeagar1 gtk a2 R
v Faa 1 RfE

Question ID : 9489111981
Option 11D : 9489117922
Option 21D : 9489117921
Option 31D : 9489117924
Option 4 1D : 9489117923
Status : Answered
Chosen Option : 4




Q.22 37 fweT & 99 FT A T g F 3 TR FaOT ¥ AT g e g ol § weOS

Ans

FEATT (Almirah) : HIEEOT LT (Storage) :: FEH (Chair) : ?

X 1. ot (Lying down)
X 2 @z g4 (Standing)
v 5 33T (Sitting)

< 4 EIE!J‘G’ I@T (Keeping items)

Question ID :

Option 1 ID
Option 2 ID
Option 3 ID
Option 4 ID
Status

Chosen Option

9489111975
1 9489117900
1 9489117899
1 9489117897

1 9489117898
: Answered
03

% yRa % TR ¥ AR W & T Te F GGG He g 87

Ans

v . gregata

A2 gam 7
K 3 e WATETET
X 4 gerTESr
Question ID : 9489111628
Option 11D : 9489116512
Option 2 ID : 9489116511
Option 31D : 9489116510
Option 4 1D : 9489116509
Status : Answered
Chosen Option: 1
Q.24 200 m #r &= #F, T 4 kmth 1 =9 # aisd §1 4, a9 Siser oF F §, 9 Fr 18 m Ay
e =1 ¥ 3 O o W 30 WFE ¥ BT & B deT 9 A S
Ans 7
< 1. — km/h
24
< 2 4.36 km/h
24
X 3. — km/h
7
v 4 312 km/h
Question ID : 9489111662
Option 11D : 9489116648
Option 2 ID : 9489116645
Option 31D : 9489116646
Option 41D : 9489116647
Status : Answered

Chosen Option : 4




Q.25 sFgat 2020 % IUF AAFA F HIER B TGS AW oW ATP i A R F freg &

JUH T 9 27?

Ans X 1. =T H=W (Roger Federer)

X 2. TolF=ist 9T (Alexander Zverev)

X 3. Thel A3TT (Rafael Nadal)
v 4 #FArares FeRife=T (Novak Djokovic)

Question ID : 9489111605
Option 11D : 9489116420
Option 2 ID : 9489116419
Option 31D : 9489116418
Option 4 ID : 9489116417
Status : Answered
Chosen Option : 4
Q.26 :
T F
083 + 444 + 444 + 4.604 + 43
Ans X 1. 97.31
< 2 178.67
X 2 56.18
v 97.274
Question ID : 9489111645
Option 1 ID : 9489116577
Option 2 ID : 9489116580
Option 31D : 9489116579
Option 41D : 9489116578
Status : Answered
Chosen Option : 4
Q27 How many Bytes make a Kilobyte?
Ans 1. 960
< 2 1440
#3100
v 4 1024
Question ID : 9489111637
Option 11D : 9489116546
Option 2 1D : 9489116548
Option 3 1D : 9489116545
Option 4 ID : 9489116547
Status : Answered

Chosen Option : 1




Q.28 fzw =17 faFedt § @ 3T TEAT S TIF ST o AEfaiae afeer § mF B (7) # aeente

Ans

FEM|

12

24

16

12

48

32

24

X123
<23
<39
viB

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :
14

Chosen Option

9489111999
9489117993
9489117996
9489117995
9489117994
Answered

@2 forelr g s A -

Ans

123" & Y ¢ ‘good to taste’
‘456" =T HYT ¥ ‘see you soon’

‘789" FT Y & ‘be right back’

o 37 9w # TRl # ¥ i O g3 & 7Y be’ 72

X1 9
V27
X3 1
X4 4

Question ID :

Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

9489112000
9489118000
9489117998
9489117999
9489117997
Answered

2




Q30 & vz 3t TATT ATH' (The God of Small Things) 39=aTT fraer forar &2

Ans

X1 T e
X 2 FeTHATT T
X 3. foRgoT TR
v et T

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

9489111608
9489116432
9489116430
9489116431
9489116429
Answered

1

Q.31 2r gt 1 s 3:2 &1 3R Ee TE ¥ 8 wenn ST € AN gl FEw F 6 wendn A §, A

FFIT 5 4 g S § FEAT A |

Ans x 1. 2: 3
X 2 16, 24
33 2
X424 16
Question ID : 9489111656
Option 11D : 9489116621
Option 2 ID : 9489116624
Option 31D : 9489116623
Option 4 ID : 9489116622
Status : Answered
Chosen Option: 3
Q.32 450 =iyt & w1 o RS A e YF BT e W W, 3 & 2 arh A st sl 20 Av
A T G TN W, 3H FHA FSg AR F - A A 3o AHRO19 7O I 981 A W9 W
ToETEr Trae T oA t@‘zﬁ‘?
ans - X1.420
< 2 394
< 3 400
W 4 369
Question ID : 9489111650
Option 11D : 9489116600
Option 2 1D : 9489116599
Option 31D : 9489116597
Option 41D : 9489116598
Status : Answered
Chosen Option : 4




% R A ¥ S FINEN F IS FEa AT °m

Ans

1. HeeT wrel THTAT
X2 § SeRa

X3 TR R

v 4 dee R ST

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

9489111642
9489116566
9489116565
9489116567
9489116568
Answered

2

Q34 3B 2F amaET d, Vv, 22 % sET ¢ A R, 8 ¥ sE% &, °r 37T 'BEHAVIOUR' & & g

Ans

#< 1. 2571229152118
v 2 2581229152118
3 2571229252218
< 4 2571229152218

Question ID : 9489111978
Option 11D : 9489117911
Option 2 ID : 9489117912
Option 3 1D : 9489117909
Option 4 ID : 9489117910
Status : Answered
Chosen Option: 2
Q.35 The mean of 21 observations is 42. If out of 21 given observations, the mean of the first 11 observations is 50 and the
mean of the last 11 observations is 35, then the 11™ observation will be:
Ans of 153
<250
<3 40
< 4 35
Question ID : 9489111671
Option 11D : 9489116684
Option 2 ID : 9489116683
Option 31D : 9489116682
Option 41D : 9489116681
Status : Answered

Chosen Option : 1




% e TR FEoR = H ¥ W T # aS £

Ans «
. Helfar
/< 2. TIOHISS
K3 g9
F %3“
Question ID : 9489111613
Option 1 ID : 9489116452
Option 2 ID : 9489116450
Option 3 ID : 9489116451
Option 4 ID : 9489116449
Status : Answered
Chosen Option : 1
Q.37 1945 F UN &I 39T 3% A9 & ScciTgsr & &7 & TUiiod &Ham a1am o
Ans

X 9uH o7 g2 & T[a 91
v 2 g 3w 3= & 99 T
X o afdir fred 7g & 8% TEe
X o a7 72 ¥ 8% e

Question ID :
Option 11D :
Option2 1D :
Option 31D :
Option 41D :
Status :

Chosen Option :

9489111633
9489116531
9489116530
9489116529
9489116532
Answered

2

Q38 gfr A 1FawETy S, 19 F swET § 3k G, 7 F swaT &, 3 31T 'MASSAGE' #1 H¥ e

Ans

< 1. 1311945375
< 21311945355
v'3 1311919175
< 4 1311919277

Question ID :
Option 11D :
Option 2D :
Option 31D :
Option 41D :
Status :

Chosen Option :

9489111976
9489117902
9489117901
9489117904
9489117903
Answered

3




¥ GSLV T gt w7 @ 2

Ans « 1.
Safimaw deamse o e (Geosynchronous Satellite Launch Vehicle)

X 2

ToATg TEALT AT Sgieher (Global Stationary Launching Vehicle)
X 3

Togd YeATST o e@iehel (Global Satellite Launch Vehicle)

X 4
SrfiETg dearse AT el (Geosynchronous Satellite Launching Vehicle)

Question ID : 9489111631
Option 11D : 9489116522
Option 2 ID : 9489116523
Option 31D : 9489116521
Option 4 ID : 9489116524
Status : Answered
Chosen Option : 4

Q40 71ine ABC is a tangent to a circle at B. PQ Il AC and £QBC = 70°, £PBQ is =?

P Q

i
'

Question ID : 9489111669
Option 11D : 9489116673
Option 2 1D : 9489116676
Option 31D : 9489116675
Option 4 1D : 9489116674
Status : Answered
Chosen Option : 4




Q41 5 m = T O vH dER F TR WH ¥ AR W SR W 3 m #r Fun W A v fg w oo
Fr g1 AR A F e Y 2.6 m dER i sk Baenn s o 9w gt 7 B Sen

Ans

& 1 F AT SR W T A AT RweE 2
K1.56m
<248 m
V318 m
<4108 m

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

9489111672
9489116688
9489116687
9489116686
9489116685
Answered

3

Q42 gz gear &7 Tua HfFT S FEfR@a Sofr F e G (2) & lawnfa sE

Ans

5 12, 19, 26, ?

v 33
X2 43
X3 34
X4 44

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

9489111983
9489117929
9489117930
9489117931
9489117932
Answered

Chosen Option : 1




Q43 37 &7 3@ F TAA F{ S Thaw A, o AR agh F &7 F gaw B wefean Tl @ o #

“ 000

X 2
W3
X 4
Question ID : 9489111996
Option 11D : 9489117984
Option 2 ID : 9489117981
Option 31D : 9489117983
Option 4 1D : 9489117982
Status : Answered
Chosen Option : 3
Q44 37 R TIEE 1 TS ST S Gt Avh # ged feg () F SfawniE wEm
BIN, CJO, DKP, 7
Ans o 1 ELQ
#< 2 LPN
< 3 WV
X 4 SFY
Question ID : 9489111987
Option 11D : 9489117945
Option 2 1D : 9489117948
Option 3 1D : 9489117947
Option 4 1D : 9489117946
Status : Answered

Chosen Option

01




Q45 7= 1944 F oA & a3 SEFEE F THEGE FT, TaAAar e F e, gv § e seememr
T & [T TF BgEd WEa # Adia oon G T 37 Al @ e A § S A 82

e K1 g = o
X 2 & A el

X 3. T Tholehedl THATA

v 47 g T

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

9489111629
9489116516
9489116514
9489116513
9489116515
Answered

4

Q.46 wsfrat #r v 9fFa & #ga v AT @ 73 Tuw W § 3 @y Y @ 118 wwm w #) o 3@ ofed

# wsfaat & gw e we= 32

Ans K119
X218
<3 16
v 17
Question ID : 9489112002
Option 11D : 9489118006
Option 2 ID : 9489118007
Option 31D : 9489118005
Option 4 1D : 9489118008
Status : Answered
Chosen Option : 4
Q.47 &1 s=naT 987 gt FHTE F ve REy F v & afewnt ¥ v @9y w5 F o= e o dF g
& ATH F4T £?
Ans
< 2 oA
< 3. FeTTsr
K 4 T O
Question ID : 9489111640
Option 11D : 9489116558
Option 2 ID : 9489116559
Option 31D : 9489116560
Option 4 ID : 9489116557
Status : Answered

Chosen Option :

1




Q.48 ws =wg #r 71,785 F du T, Fasram @7 15% 1 @l g B 15% @ O &t & A 3@ awg W@

5w HqFg o == S =@
Ans 1. 21,785

v 2 32415
<3 32,100
X< 4 32,205
Question ID : 9489111659
Option 11D : 9489116633
Option 2 ID : 9489116636
Option 31D : 9489116634
Option 4 ID : 9489116635
Status : Answered
Chosen Option : 2
Q.49 :
T
(542 4+ 321)2 — (542 — 321)2
542 % 321
Ans x 1.1
642
X 2 225
271
1
Xa_—
271
v 4
Question ID : 9489111648
Option 1 ID : 9489116589
Option 2 ID : 9489116592
Option 31D : 9489116590
Option 41D : 9489116591
Status : Answered
Chosen Option : 4




Q.50 1857 &, 3 & FETe FUr F AW aEs
Ans X'I. ﬂ 5 ETlFlZ

K 2. STITSEIA 3haT

W 3 SEIgY UTE SR

X 4 TR JeY

Fr Fear ¥ sEEg & am

Question ID : 9489111617
Option 11D : 9489116468
Option 2 ID : 9489116465
Option 31D : 9489116467
Option 4 ID : 9489116466
Status : Answered
Chosen Option : 3

Q51 sr=1 Feorsie 33TOROT (Bhadra Wildlife Sanctuary) 5w T & g #7
AR o

A2 aF T

< 3 e

<4 BEr

Question ID : 9489111623
Option 11D : 9489116492
Option 2 ID : 9489116490
Option 31D : 9489116491
Option 4 1D : 9489116489
Status : Answered
Chosen Option: 1

Q.52 =g faweT o Tod ST F Gl gE & s weR g Ol ge awe oeen @ wsfod b
4 ; 24 325y 2

Ans o1 216
<2 36
<3125
<430
Question ID : 9489111993
Option 11D : 9489117969
Option 2 ID : 9489117971
Option 31D : 9489117970
Option 4 ID : 9489117972
Status : Answered
Chosen Option : 1




Q.53 =zt #r 37 ST wES WY F A TN E| 3 T OF 9 A€ 37 G H HY 7 qUAsa 231 @
ST | 0T T FAAA Y AT FL

e K139 T
<213 a9
<35 ay
V415 I§
Question ID : 9489111667
Option 11D : 9489116668
Option 2 ID : 9489116666
Option 31D : 9489116665
Option 4 ID : 9489116667
Status : Answered
Chosen Option : 4
Q.54
OCR & quTwT a1 872
Ans x 1.
HiCeAA Fegex NaFrsa (Optimum Computer Recording)
X 2
HifCeshel HegeX RIseT (Optical Computer Recording)
v
HITCZehel shisFel Lehaarara (Optical Character Recognition)
X 4
HCeaaT ol THFarea (Optimum Colour Recognition)
Question ID : 9489111636
Option 11D : 9489116543
Option 2 ID : 9489116544
Option 3 ID : 9489116542
Option 4 ID : 9489116541
Status : Answered
Chosen Option : 2




O gy vew AR W FT W ST B T F AT 412

Ans o 1. JTCITERT
X2 garg
2 FiRmiear
<4 T

Question ID : 9489111624
Option 1 ID : 9489116495
Option 2 ID : 9489116496
Option 3 ID : 9489116494
Option 4 ID : 9489116493
Status : Not Answered
Chosen Option : --

¥ v FuTEF AT R H =R H T et aa
Ans o1 206

X216

X 3 156

X 4. 296

Question ID : 9489111612
Option 11D : 9489116448
Option 2 ID : 9489116445
Option 31D : 9489116447
Option 41D : 9489116446
Status : Answered
Chosen Option : 1

Q.57 mHes HeGee (Salt March) %8 @ &8 die SRUT ¥ Soor@ag o AR fa s wm =g o
T A A

Ans x1.
g 9ge Iseaer Afafaty o forme Afgemsit & wEr g & T e o
X 2
$H HESS & IS B T FAFHH @ T AT T ST AT g F T 7@ 7w
X 3. SHT HAZTAT el Fr 3T T W yg=na e

o R FT AT HEET TRl H A FA

Question ID : 9489111621
Option 11D : 9489116483
Option 2 ID : 9489116484
Option 3 1D : 9489116481
Option 4 ID : 9489116482
Status : Answered
Chosen Option : 4




.58 = N :
8 i ew U OT THae # e i 2
A
" 1 SET (GDP)
X 2. Froadr (GST)
X 3. TEdrar (STC)
X 4 3T (VAT)
Question ID : 9489111639
Option 11D : 9489116556
Option 2 1D : 9489116554
Option 31D : 9489116553
Option 4 ID : 9489116555
Status : Answered
Chosen Option : 1
.59 B
O T TER F FU F FET HT giaeg A G9E A £
Ans s u
K. fgfAew (Bituminous)
& 2 9 (Peat)
v 3 Teyarse (Anthracite)
X 4 fEase (Lignite)
Question ID : 9489111615
Option 11D : 9489116459
Option 2 ID : 9489116458
Option 3 ID : 9489116457
Option 4 ID : 9489116460
Status : Answered
Chosen Option: 3
Q.60 IH PR A9 H W TG F AT Few, TEEF FI AT § 30% H#Oe @ S §) Ao g3ie
Irg % T 7FT W 10% # ge To FAo g1 I T de B 223,400 H ¥ AT §, A 36 W
ST w17 AT Hifsw
Ans 1. 320,000
/< 2 %3978
X 3 218,000
W 4 23,400
Question ID : 9489111658
Option 11D : 9489116629
Option 2 ID : 9489116632
Option 31D : 9489116631
Option 4 1D : 9489116630
Status : Answered
Chosen Option : 4




Q.61 Everything in this universe is made up of material which scientists have named:

Ans o 1. matter
/< 2. liquids
& 3. solids
/< 4 crystals
Question ID : 9489111611
Option 11D : 9489116443
Option 2 1D : 9489116444
Option 3 ID : 9489116441
Option 4 1D : 9489116442
Status : Answered
Chosen Option : 1
Q62 3mrzax 2020 T WITT FAHN F HIER, FYFT TSE % oA AT Hiet 87
A ' .
" X 1. FIET 3T (Kofi Annan)
v o Taifaar ?Ié'l'\ﬂra (Antonio Guterres)
X s &1 %I #F (Ban Ki Moon)
X 4. SOH FRH-HT (Boutros Boutros-Ghali)
Question ID : 9489111634
Option 11D : 9489116534
Option 2 ID : 9489116535
Option 31D : 9489116533
Option 4 ID : 9489116536
Status : Answered
Chosen Option : 2
Q.63
‘TsHs (Touch-Me-Not)’ dier &1 F=1fae 71 T 872
A a d
" TAEmET giger (Mimosa pudica)
X 2 AEr @Eaasr (Mimosa townsendii)
X 3. AT arFafad (Mimosa loxensis)
X 4 HEEr IFHEr (Mimosa verrucosa)
Question ID : 9489111616
Option 1 ID : 9489116464
Option 2 ID : 9489116462
Option 31D : 9489116461
Option 4 ID : 9489116463
Status : Answered

Chosen Option: 1




Q.64

2019:%%&133#3?{%:3@#31:1@?%@

Ans
P S-EIUT
X 2 AR qIOT
Vs aRT T
X 4 o faeqor
Question ID : 9489111607
Option 11D : 9489116426
Option 2 1D : 9489116428
Option 31D : 9489116427
Option 4 1D : 9489116425
Status : Answered
Chosen Option: 3
Q.65 el 3 e 3eaT F1 T weEr &, 5T afeer Azew 4 Fex T &, 3EG 9% O afes Hgew 2 e
A §, FHE TG T Elfge Az 4 HEX qaAT gl o 9F 39 AN fuly ¥ fhae dew gy ?
Ans x 1.3
<24
VER
X o GREER g WM 0 W
Question ID : 9489111997
Option 11D : 9489117986
Option 2 ID : 9489117985
Option 31D : 9489117987
Option 4 1D : 9489117988
Status : Answered
Chosen Option : 3
Q.66 T 3mEFT U W W 24 AT F 9w G §| = A s w1 w32 RE F @ = g
1 we geut A de ARt 3 fewt o R aw @0 G, S ag Aot @ w3 s
feam 2 A & 99 = 9@ w6 F Bw e At g & &0 9 e e @i
A X1 64
V2 32
<3 48
X424
Question ID : 9489111663
Option 11D : 9489116649
Option 2 1D : 9489116651
Option 31D : 9489116650
Option 41D : 9489116652
Status : Not Answered
Chosen Option : --




Q.67 =@ T & T FY S WY g F 5 THR T ¥ AW W MeE g eg F WS F
HET ;W Wi ?

Ans
1.
X SEr T
v 2 gesr
X 3. ggrer
X 4w
Question ID : 9489111974
Option 11D : 9489117896
Option 2 ID : 9489117894
Option 3 ID : 9489117895
Option 4 ID : 9489117893
Status : Answered
Chosen Option : 2
Q.68 & FHF g F a1g NS GERT HHGIT Hiereld I of fordT T o
Ans *
X 1. TR g e
( 2. ;ﬁ'ﬂ' Eﬂ?}'
< 3 JTole T
X 4 oI OIS TGl
Question ID : 9489111620
Option 11D : 9489116478
Option 2 ID : 9489116479
Option 31D : 9489116480
Option 4 ID : 9489116477
Status : Answered
Chosen Option : 2
Q.69 uew qF F 3 7w &1 @ F $WT F vEw 79 # 4 G, gy A9 & 2 7 i S a9 # FEer 12 0
e {1 A Ae 3T W 9 F A § Shder wEg weem?
Ans : o -
vt SE e
<26 =T
1
X3 6= &=
2
1 -
Xal— T
11
Question ID : 9489111661
Option 11D : 9489116643
Option 2 1D : 9489116641
Option 31D : 9489116642
Option 4 1D : 9489116644
Status : Answered
Chosen Option : 1




Q.70 Wﬁmmeﬁrlﬂ%mﬁmmwwmﬁli T¥ F T 3w & IES T8 TfEr
TAT HE F B0 TAw IR s T &7 (SO HOAIES ¥ § TR @ §) W I Rl dn

FT FUR & &7 TH TRN 3H4 1305 FAT| G AT FL0

Ans 1 240,000
/< 2. 240,305
/< 3 230,000
< 4.230,500
Question ID : 9489111660
Option 11D : 9489116638
Option 2 ID : 9489116640
Option 31D : 9489116639
Option 4 ID : 9489116637
Status : Not Answered
Chosen Option : --
Q.71 ¢
T F
12+(3x2)+8x4—4
ans X1 80
X2 1
<32
v 4 30
Question ID : 9489111644
Option 11D : 9489116576
Option 2 ID : 9489116573
Option 31D : 9489116575
Option 4 ID : 9489116574
Status : Answered
Chosen Option : 4
Q72 T & & i & 1973 & #g F Il F7 HEET FF SWEEd T W AW W F [T SR 6N
2T Fenfera =T 27
Ans i - (g s
X 1. IEeEASE Fardera (Wildlife Conservation)
X 2 ¥F T eI (Save the Tiger)
<3 CIEEERIER T EE'JT (Wildlife in India)
v & 9raae e (Project Tiger)
Question ID : 9489111622
Option 11D : 9489116485
Option 2 1D : 9489116487
Option 31D : 9489116486
Option 4 1D : 9489116488
Status : Answered

Chosen Option : 4




73 fyeomer FreEd (giant squirrel) BFE TS TR a9 &7

Ans

&1 T

v 2 FERTSE

< 3. A= geer
< 4 ghegmom

Question ID : 9489111625
Option 11D : 9489116499
Option 2 ID : 9489116498
Option 3 ID : 9489116497
Option 4 ID : 9489116500
Status : Answered
Chosen Option: 3
Q.74 7 afvSHifRs 5T F ofaea & w7 &, o= S vO S TS F a5 e SofeasaeEET
et ¥ T & s Baer B2
A X7 Sl
X 2 6 HrEdr
< 3 1 BrEdr
v 4 5 BrEET
Question ID : 9489111643
Option 11D : 9489116569
Option 21D : 9489116571
Option 31D : 9489116570
Option 41D : 9489116572
Status : Not Answered
Chosen Option : --
Q75 As of October 2020, which was NOT a Maharatna?
Ans 1. Oil and Natural Gas Corporation
/< 2. Steel Authority of India Limited
/< 3. National Thermal Power Corporation
« 4 Hindustan Aeronautics Limited
Question ID : 9489111641
Option 11D : 9489116563
Option 2 ID : 9489116564
Option 31D : 9489116562
Option 41D : 9489116561
Status : Answered
Chosen Option : 4




Q76 1£(2x — 1) is a factor of 2x* — 7x2 + x + k =0, then find the value of 'k'.

Ans 1
- I
4
<20
. |
Vs Z
4
h
X4 >
12
Question ID : 9489111665
Option 11D : 9489116659
Option 2 ID : 9489116658
Option 31D : 9489116660
Option 4 ID : 9489116657
Status : Answered
Chosen Option: 3
Q.77 Hfzmr fteerm ¥ (VGA) B Titsew wefile o= #7 v qomer | o frus oo fawfam $r 8
ofr?
Ans X 1. Teger (Apple)
X 2. Afdeerer (Macintosh)
X 3. AZHETE (Microsoft)
v o FEETHE (IBM)
Question ID : 9489111638
Option 11D : 9489116551
Option 2 ID : 9489116552
Option 31D : 9489116550
Option 4 ID : 9489116549
Status : Not Answered
Chosen Option : --




Q.78 ﬁ:

56+ J185+ 8836+ 19

as X1 \9T
X 2 81
V39
<43
Question ID : 9489111651
Option 11D : 9489116603
Option 2 ID : 9489116601
Option 31D : 9489116602
Option 4 1D : 9489116604
Status : Answered
Chosen Option: 3
Q.79 g g=aw A 3T B ue SOl =9 C ¥ FHn 15% 3 32% # ¥ gw5r B, = A ¥ e afaee
& &7
Ans o 1. 20
< 2 80
<3 32
< 4 B8
Question ID : 9489111657
Option 11D : 9489116628
Option 2 1D : 9489116626
Option 31D : 9489116625
Option 4 1D : 9489116627
Status : Answered

Chosen Option

|




Q.80 frw @ 77 & =TT W TH &9 =i B A% 7 e § T AT (4 EEh wiie) &

Ans

HTURRET W

K. 8 9T 9 Sy S
v 2 B TE IS &F S
Koo IR | [T S
K o A I B A S

Question ID : 9489111618
Option 11D : 9489116472
Option 2 ID : 9489116469
Option 31D : 9489116471
Option 4 ID : 9489116470
Status : Answered
Chosen Option : 2
Q.81 37 3T THg & 974 AT 3 PR Aot & wom e (2) @ 9w =
G7R18, H8519, 19T20, ?
Ans X 1. D3A11
v 2 J10U21
< 3 C2P13
< 4 L4B12
Question ID : 9489111988
Option 11D : 9489117950
Option 2 ID : 9489117951
Option 31D : 9489117952
Option 4 1D : 9489117949
Status : Answered
Chosen Option : 2
Q.82 248,000 &t T @1 2 st e 3t wfeew & 11 : 13 F e & e = 1 IfEew W REwr
g FfET)
Ans 1. 324,000
v 2 326,000
/< 3. 322000
< 4 32,000
Question ID : 9489111654
Option 11D : 9489116616
Option 21D : 9489116614
Option 31D : 9489116615
Option 4 ID : 9489116613
Status : Answered

Chosen Option: 2




Q.83 v TiErER TN F AR HE g A W IFH B 5 om F 7@ 10 om 3 I E AF TR

3 FAT T TEAN & O ATAF F AT AT BT

Ans X 1.1 : 2
<21:8
<32:1
vi1:4
Question ID : 9489111664
Option 11D : 9489116653
Option 2 ID : 9489116655
Option 31D : 9489116656
Option 4 ID : 9489116654
Status : Answered
Chosen Option : 4
Q84 =¥ ¥ 3 9T F TF ToW & HEIAT @ F WU-HIY UF GAGTSST AT & Hewe o 92
e X1 seready aew
<2 Tferey g==7
X 3 g g sl
v el wae A
Question ID : 9489111627
Option 11D : 9489116507
Option 2 ID : 9489116505
Option 31D : 9489116506
Option 4 ID : 9489116508
Status : Not Answered
Chosen Option : --
Q.85 uffy o feer FR & T Rig ¥ 18 m 3T 32 m B 3F W Tw & Riget @ FmR F A F s
FOT TF ¢ HAR F 5= AT Al
Ans X1 36m
X2 32m
K3 20m
V4 24m
Question ID : 9489111673
Option 11D : 9489116689
Option 2 ID : 9489116692
Option 31D : 9489116690
Option 41D : 9489116691
Status : Not Answered

Chosen Option :




Q.86 =y & =5 o= # 3 2015 & 2019 7% ¥ v 5 7= # ¥ 3e9ea F W3 (7@ o= H) A

v ¥ oo & R ow et # seana w1 Hk ded 7 3 &)

F§ 2015 | 2016 |2017 [2018 |2019
T
A 8 10 9 11 11
B it 12 10 9 8
c 12 13 14 11 14
D 6 8 8 9 7
E 18 17 15 16 14

2015 ® 2019 o ¥ & F& 3o & fhe T & A T E FA @7

Ans ( 1. D
X2B
<3 A
X4 C
Question ID : 9489111989
Option 11D : 9489117956
Option 2 1D : 9489117954
Option 31D : 9489117953
Option 4 1D : 9489117955
Status : Answered
Chosen Option : 1
Q.87 3 & =% arfeeT & a¥ 2015 F 2019 7% & Fw 5 T=H F I 3°9EA & AHFy (FW e H) FWC
T | TfereRr F T T HiwSt 7 e ¥ R mF F 3o &)
I¥ (2015 | 2016 |2017 |2018 |2019
=T
A 8 10 9 11 11
B 11 12 10 9 8
C 12 13 14 11 14
D 6 8 8 9 7
E 18 17 15 16 14
¥ 2015 #, %ﬁm?mﬁﬁﬂmﬂﬁ%gﬁrm%mé ¥ T deere T
Ans o1 E
X228
X3 A
<4 C
Question ID : 9489111990
Option 11D : 9489117959
Option 2 ID : 9489117960
Option 31D : 9489117958
Option 4 ID : 9489117957
Status : Answered

Chosen Option

|




Q.88 g7 7o W T U HE T FASEEA g ¢

g FE FF T FFEEAr 720000 7, O FE F TYAT (Animals) Fr FEm o 32

Ans 130000

< 240000

#< 3. 50000

v 4+ 60000
Question ID : 9489111991
Option 11D : 9489117961
Option 2 ID : 9489117962
Option 31D : 9489117963
Option 4 ID : 9489117964

Status : Answered
Chosen Option : 4
Q.89 = & w1 @for # ¥ 2015 & 2019 7% & B § 7= # ¥ 309w & 3 (FW o= H) AW
v ¥ oo & R ow et # seana w1 Hk ded 7 3 &)
a¥ | 2015 | 2016 | 2017 |2018 |2019

=T

A 8 10 9 11 11

B 11 12 10 9 8

C 12 13 14 11 14

D 6 8 8 9 7

E 18 17 15 16 14

5w == & 9% 2015 & 2017 T 596w # wad #k foog 3fy o= & =2
Ans «' 1.6

<2 A

X3D

<4B
Question ID : 9489111992
Option 11D : 9489117966
Option 2 1D : 9489117967
Option 31D : 9489117965
Option 4 1D : 9489117968

Status : Answered

Chosen Option :

1




Q.90 faw orw et F ¥ 3@ FEW WAR F TH w1 w04 diew, owE @ F Teafefaw 39w e @

Ans

BQzZH : OGXI = ?

v 1 FLXR : YESM
# 2 PNML : STWW
X 3 WBLK : RTID
X 4 SQMN : UTWZ

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

9489111994
9489117974
9489117973
9489117975
9489117976
Not Answered

Q91 37 gwar @7 Tuw HfFT I F=fR@T Sofr F e e () # lawfe sE

5, 12, 54, 306, 7
Ans 1. 1008
<2 2734
'3 1818
< 4. 2460
Question ID : 9489111985
Option 11D : 9489117939
Option 2 ID : 9489117940
Option 31D : 9489117938
Option 4 1D : 9489117937
Status : Answered
Chosen Option : 3
Q92 37 R g 1 9O ST A FTEHARET ST F 27 Fe (?) F gaEnRE Fom
GPW, HQX, IRY, ?
ans X1 MNF
v 2 JSZ
X 3. ERD
<4 THU
Question ID : 9489111984
Option 11D : 9489117935
Option 2 ID : 9489117936
Option 3 1D : 9489117934
Option 4 ID : 9489117933
Status : Answered
Chosen Option : 2




Q.93 oy =afEa aror B w &1 ¥ Few F AR Hg FF goaen Tufy F ¥
T TR PF e iR TIA DF e it R Y, PF o= 3w g1 aR D, Y & @iy a9ew
T F ofdT ¢ 3T P, R & WY 39T T 52 ol g, aF D & a0€ 3T Hia Far geme

Ans

vis
5 2
< 3.
r

0 10V <

fISSRyFAAT T A S

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

9489112003
9489118009
9489118011
9489118012
9489118010
Answered

1

Q.94 «ferat #r 77 Fraw FEar wa ffee, S AT AT T F 3T THS 8, T8 A ge B gow i

w1 Heltae F E A A F O H & WY FFA T a) B Aean?
ol Fy i s s ol a@d Fao d §

Ans x 1. 7
<24
V35
<43
Question ID : 9489111982
Option 11D : 9489117926
Option 2 ID : 9489117928
Option 3 ID : 9489117927
Option 4 ID : 9489117925
Status : Answered
Chosen Option : 4
Q.95
IfE RAHUL =T IS 60 g, @ RAJESH =T &I FT g e
Ans X171
<2 41
< 3 51
v 4 61
Question ID : 9489111979
Option 11D : 9489117914
Option 2 1D : 9489117916
Option 31D : 9489117915
Option 4 ID : 9489117913
Status : Answered
Chosen Option : 4




9% Zfr AVERY & 3= 71 &, @ AMANDA &7 #13 37 2=m?

A X 64
<2 54
v 34
< 443
Question ID : 9489111980
Option 11D : 9489117920
Option 21D : 9489117918
Option 31D : 9489117919
Option 4 ID : 9489117917
Status : Answered
Chosen Option : 3
Q.97 =7 Fear #1 TUa AT S el A & v faeg (7) @ sfamnfts w6
3, 12, 48, 192, ?
Ans X 1. 687
< 2 786
X< 3 876
v 768
Question ID : 9489111986
Option 11D : 9489117944
Option 2 1D : 9489117941
Option 3 ID : 9489117942
Option 4 ID : 9489117943
Status : Answered
Chosen Option : 4
Q.98 T 7rr fFEedt & ¥ 37 HEm F e e S ARt avh F v G (2) #= s
FEM
4, 27, 256, ?
Ans o 13125
< 2 1235
X 3. 2315
< 4 5321
Question ID : 9489111995
Option 11D : 9489117980
Option 2 1D : 9489117978
Option 31D : 9489117979
Option 4 ID : 9489117977
Status : Answered

Chosen Option :

1




fam o ¥7

Ans x 1 ﬁ?—qﬁ
v 2 ZfRrgd

Q.99 3mor 3 s & Ty, fowe Hg 3o & AN E, @Y 10 A "o § AR 3w ag 9g fawde
f&am & 20 o1 =eraT 31 S 9E 9F AT JIAL 10 I ToAT 8| FE 0T Ao oRfEe Tl ¥ e

< 3 gieyur-gfeaH

< 4 Fear-ateEs
Question ID : 9489111998
Option 11D : 9489117990
Option 2 ID : 9489117992
Option 3 ID : 9489117991
Option 4 1D : 9489117989

Status : Answered
Chosen Option : 2
Q100 zfy A 1 & swET &, V, 22 % s § 3T E, 5 & s §, dF 9 VAGUELY' &' & o=
ans K 1. 22171215225

X 2 21171215225

V'3 22172151225

< 4 21172151225
Question ID : 9489111977
Option 11D : 9489117907
Option 2 1D : 9489117908
Option 31D : 9489117906
Option 4 1D : 9489117905

Status : Answered

Chosen Option : 3
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